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Graphs of the six c i r c u l a r functions in the f i r s t quadrant yield some 

pa r t i cu l a r ly elegant r e s u l t s involving the Golden Section. 

Let cp2 + cp = 1, so that cp = (ST5 - l ) / 2 = 0.61803 and notice that: 
a r c cos cp = a r c sin ^ 1 - <j#K= a r c sin ^ = 0.90459 

a r c sin cp = a r c c o s ^ l - cp2 = a r c cos ^ = 0o66621 

F u r t h e r , if tan x = cos x , then sin x = cos2x and sin2 x + sin x = 1, that 

i s 9 x = a r c sin cp in which ca se tanarcs in<^ = c o s a r c s i n ^ = cosarccosN/c^ = "fcp 

[Continued on p. 392. ] 


